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18mW RC
K4£ P& 1[EH 2[[1§ &5t
1 ME BE RHTREE 306 312 618
2 Jilm B wHTEHRE 314 303 617
3 hf EX RHTREE 312 298 610
4 &0 &5 RHTREE 265 268 533
5 Z8 FA wHHEHRE 253 279 532
6 4$F FF wHEHEHRE 176 208 384
7 =ik EE RHTREE 183 159 342
8 BHF B RHTREE 0 106 106

18mW CP
K4£ P& 1[EH 2[E1§ =1
1 Fig EH— wHHEHRE 332 328 660
2 E #HF RHTREE 306 313 619
3 i s R E = RHTREE 294 317 611
4 | FX HhEY WHHTREZ=E 314 294 608
5 RE BF RHTREE 292 313 605
6 BE &F wHTEHRE 289 312 601
7| HE Z—EBB RHTREE 293 291 584
8 A HEEF wHHEHRE 276 295 571

30mW RC
K4 P& 1[EH 2[[1§ =1
1 BE B BEFRKE 287 294 581
2 K &S Esb=dia 293 284 577
3 AR _FRK eSS 263 289 552
4 HE {3 RHTREE 281 270 551
5 BERE 0 BIEZFXK 257 253 510
6 R B eSS 272 235 507
7 B B2 AT EHRE 260 238 498
8 ME MK EsbipN= 223 242 465
9 M BCA EFERH 217 238 455
10 ERE B EspipNE 230 220 450
11 RE BBF BIEZXFXK 210 240 450
12| K EzZ EES 218 211 429
13 NS~ BEFAKE 212 213 425
14| BkH = BIELXFX 211 201 412
15 gk SEE EspipN= 209 189 398
16 MHE EE BIEZXFXK 167 198 365
17 K BEE 2K 133 120 253




30mW CP

K4£ P& 1EH 2[[1§ =1
1 g ¥ RHTREE 301 262 563
2 it wHEH 251 277 528

VERF

K4£ Bl 50m 30m =t
1 ¥ B PN 264 300 564
2 FI iR PN 238 293 531
3 WAR EF KRS 210 292 502
4 INRR FIE S 190 288 478
5 55 B% 2SR 142 209 351
6 ER 3 KRS 124 208 332
7 WA fnd KRS 52 165 217

BEEF

K4£ Bl 50m 30m =t
1 M =R RIRZEREXR 310 333 643
2 BHE B EsFib = 309 333 642
3 LB BB EsFib = 300 338 638
4 XE HE EBFEREAX 304 332 636
5 HE g2 NN 308 325 633
6 | A&t FRAER WmEEEKX 297 335 632
7 i Eth PN 8- PN 297 334 631
8 | AI¥F ME—ER RIRZEREXR 302 329 631
9 ®NE BEFAKE 293 331 624
10 ZH FX RIRFEFEFXR 299 324 623
11 BK = RIRFEFXR 290 332 622
12| HfE BR EEipNa 298 321 619
13| BRE BE PN TP 288 321 609
14 XE = R XKO0B 291 317 608
15| JIIE BEE RIRFEFXR 285 322 607
16 | tERK B BEFEKE 274 331 605
17 el FN4 EsbipNEa 272 330 602
18 flit X EspipN=a 282 320 602
19 BK 2& EsbipN=a 275 323 598
20 KA EBFMEREX 275 321 596
21 A 3 EsbipNEa 259 331 590
22 =K ME RIRFEFXR 279 306 585
23 EO X EspifpN=a 266 309 575
24| WE EA EsbipN=a 269 304 573
25 INGT BT RIRZEREXR 248 325 573
26 BA I RIRFEFXR 256 316 572
27 = FE— FEHST 267 305 572
28 EH 1T BEFRKE 250 321 571
29 BH = RIRZEREXR 270 298 568
30 ELr BE RIRZEREXR 254 313 567
31 ik 2 RIRZEREXR 246 317 563




32 AF I [BEFFEREAOB 278 285 563
33 BH & RIR#EFXR 249 313 562
34 Rith X EspipNEa 255 307 562
35 T B EspipNE 252 306 558
36 ) EsbipNEa 249 306 555
37 HAE EEipNa 243 310 553
38 R $hER RIRFEFXR 245 302 547
39 ik 2E RIRZEREXR 223 323 546
40 | TE ik PNT PN 249 295 544
41 WA EC RIR#EFXR 250 293 543
42 | kF J\KER B K0B 251 292 543
43 HE BE RIRFEFXR 234 306 540
4 KZ J|A EsbipN=a 245 295 540
45| fRHA =3k BEFRKE 241 295 536
46 g B RIR#FEFXR 230 296 526
47 B 3K RIR#EFXR 225 294 519
48 =W f=E BEfEKE 244 274 518
49 e 5% RIRFEFXR 209 308 517
50 Z B [GEFMEREXOB 220 296 516
51 A2 = RIRZEREXR 214 301 515
52 W BX KRR EKX 234 279 513
53 m Mz RIR#FEFXR 225 276 501
54 BH RIR#EFEFXR 209 290 499
55 ZFA s RIRZEREXR 207 291 498
56 fEilE RIRZEREXR 216 271 487
57 Hir tha RIRZEREXR 197 289 486
58 L5 ZHF EspipNE 201 278 479
59 | fm3 {EAI wHHEHRE 201 278 479
60 | HBE E KRERZEIER 206 273 479
61| e HEAXER RIR#EFXR 209 268 477
62 nEE EEk RIRZEREXR 210 264 474
63 T N KRER#FEEXR 219 253 472
64 | fnikE {H—ER RIR#EFEFXR 187 282 469
65 FH B B KE 190 269 459
66| EFA BER pN= N 172 285 457
67 FHI_(GH RIRFFEFXR 181 267 448
68 | fin¥sk T2t RIRZEREXR 182 250 432
69 HT #%ig RIRZEREXR 160 248 408
70| BX L RER#FEEX 164 243 407
71 W B BEFRKE 122 263 385
72 B2X X Eslib = 119 249 368
73 XD EE RIRZEREXR 154 187 341
74 =l 8 RIRZEREXR 122 200 322
75 FH BN RIRFEFXR 95 180 275
76 21 mE PNUT PN 51 30 81
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K%

E 50m 30m =
1 X% H%E EiEipNca 286 329 615
2 55 BE RIR#EFXR 258 320 578
3 | EFft HPH RIRZEREXR 267 308 575
4 BHE X&E EEipNa 266 308 574
5 HE BFE RIRZERREXR 257 317 574
6 L b EsFib = 260 313 573
7 FE EBX KRERZEFEA 261 307 568
8 | =F HEH EEipNa 246 304 550
9 =H HE RIRZEREXR 233 302 535
10| BB &bH ESLicp = 234 297 531
11 H BF EBFMEREX 232 294 526
12 =27 = pNE N 224 301 525
13 R_EW BIEZFKX 222 282 504
14| fRH#F BE RHTREE 217 283 500
15| RHF HT=E RIRZEREXR 206 290 496
16 | KAR UV&EH RIRZEREXR 224 270 494
17| #O BEE¥ BIEXFX 223 270 493
18| BBl ERF BIEZFXK 204 285 489
19 AR FHid RIRFEFXR 202 276 478
20 B EE RIRZERBEXR 204 273 477
21| Hd HHE BEFEKE 194 275 469
22 TH BF BX—a#%E 188 248 436
23 BR #hic RIRFFEFXR 131 267 398
24 Sl ER RIRFEFXR 142 236 378
25| #HE IOH BIEZXFXK 149 223 372
26 BEO HE BIELXFX 122 242 364
27| FHH P BIEZFK 69 178 247




CPE+F

K4£ Bl 50m 30m =t
1| tE4/K EE FEHST 325 347 672
2 INE BA FEHST 323 332 655
3 R B FEHST 298 337 635
4 I B RHTREE 301 326 627
5 AR H FEHST 309 309 618
6 HE % FEHSD 287 318 605
7 EM EA wHEHREHE 281 316 597
8 EO ETH WHET 275 301 576
CPZF
K4£ Bl 50m 30m =t
1 Fik XF FEHST 316 349 665
2 hE EHF FEHST 301 346 647
3 AR WFF FEHSD 308 335 643
4 FH HBE FEHST 293 323 616
5 | /IvE EiHF FEHST 285 323 608
6 ®EF FEHST 241 315 556
Gif%y
1| Bz 1904 (¥5H 642, ¥} 638, #44 624)
2 | KIREFRF 1876 (AA 631,FH623;57K 622)
3 | RBRZEFBRARFE 1849 ([ 643, alEr 631,54 575)
& B8 FOPEN
K4 Bl 50m 30m =t
1 BEO & 7ILaAHS5T 274 318 592
2 tHHE BE FEER K 262 321 583
3 M thid 7ILaAHS5T 220 297 517
A& FOPEN
K4 Bl 50m 30m =t
1 BREH BF FEHSJ0G 237 321 558
2 | B =BY 7ILas5T 240 306 546
3 | HE FEF On-Line 221 306 527
30mW OPEN
K4 P& 1[EH 2[[1§ =1
1 ¥ B On-Line 210 208 418
2 #HH S5 SFEAC 174 208 382




